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ATTOLICO |5A |4A SD|2C 1C| R |5D|5D 5D [4A|1C|1B 1C|1B|5A |2C 2C|2C|(5SD|1B
BASILE 1c|1c 1B|1B|1A|1A| R
CACCAMO 2C|4A |1B|1A|2C R (1A 1B |2C |4A 1A 1B |4A
CALIA SD |SD |5C |4C |4C SC|SC|5C| R |5D|5D |4C |4C
CAMPANELLA IMOIMO|2C |2C | R 1B|1B 1C|1C
CAPUTO 1MOIMO|2C |2C | R 1A 1A 1B|1B pMORMO 1C|1C
CASALINO 1MO[1MO1MO1MO| R 1MO1MO1MO|1MO|
CASTRO 1A|1B|1B R P2MORMO|2C [2C 1A MoimMoO 1C|1C
CAVALLARI 3C 3C
CISTULLI 3C|5cC [4A 5D 2C|5D [5C 4C|4A[1C|2C| R |[4A|4C|3C 4c|5Cc|5D|1cC
COLASUONNO 5C |4C 4C |5C
CONVERSANO 4A 4A 5A |5A
CORATELLI 2MO| 1MORMORMO| MO[1MOQ| 1MO[1MO]
D'EREDITA' 4C|5C |3C 4C|3C|5C 4C|5C|3C
DEFAZIO 1C|2C|1C|4C 4C|4C|1C|5C 5C|1c|1c|5C 5C|4C| R 4C|5cC|5C|4C
DEPINTO 1B 2MOQ| 5C [IMO 1MO| 1B | 5C |sa-s0 RMOs:-s»| R | 1B [IMO| 2MOj=»-s»| 5C | 1B IMORMOQ
GAGLIARDI ic|1cC 1B|1B|1A|1A
GALLO POTIMO R |3C 4A |4A |3C POT| POTPPOT|4A |4A POT|4A 4A PMOPOT| 1A |1B
GENTILE 1A 1A
LICINIO A. SAPOT R SD [POTPOT 1MO| SA PMORMO| 2C|1C|5D|5A 1C|2C|5A |SD 1MO|
LICINIOF. |[2C|4C|1C| R |1A 4A |2C|4C|2C|1C|1A|4A 1C|4A 1A |2C 1A|4C|1C
MINERVA 1A 1A
MINERVINI POT|4C| R |1A POT| 1B [s=-=2| 3C POT|3C|1B POT|4A |s+-0 1A |4A PMO|4C RMO|
MODUGNO N.| ZMORZMO|
MODUGNOR. |[4C| R [3C|1A |5C 4C|3C|5C S5C|4C|1A|3C 1A |4C|3C|5C 4C|3C|5C
NAGLIERI 3C 3C 3C
Nuovo docente (1)
PAPAPICCO|4A POTPOT R |1B [POT|4A POT| 1B POTIPOT| 1A |4A |4A POTPOT 1A POTPOT
PETRONELLI |1C| R S5ciMo/2C|2C|1C 1M0|5C
POFI 5A|5A[1A|1B 1B|1A|5A[ R
QUARTA 5C|1A[1B| R sa-0| 3C [4A 2MO[1MO/4C |2C|1C
SARDONE 1C|1A[3C 2C|3C[1C|1B|1B |2C|2C|1A 3C|2C[2C 1B|1A|IC| R |2C
SCARAMAZZA 2MORMORMORMORMORMO)| 2MO| R PMOQ|
SCHIAVONE 2MO| 1B |so-54 2MO| [POT| 1B |RS POT| [POTR2MO|ss-so|ss-s0| R -5 1B PMO|RS |RS sa-sjsa-0| 1B [POT]
SCHIRALDI 1B|1B R pPMORMO|2C |2C 1MQ|IMO|1C |1C
SFORZA PICCA| 1B |2C|1C1MO 1A | R MO
SIVO POTPPOT 4A |4A 4A |4A POT| R 5D [POTPOT 4A |4A POT| POTPOT|4A |4A | 5D
SORGENTE 3C|3C| R 3C|3C|3C
URBANO 1A |2C1MQO R |3C POT| 1A 1MO 2C1MO[ 1A [POT|RS |RS|2C | 3C |3C 1MQ| 2C|3C|1A
VALENTE |5C 2MO|4C 1MO| 1C1MQ[1C| R |5C 4C |s»-=[IMOZMO|4C sa-s0 1C |s2-s0| SC 2MO|




